Limits in Maple.
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This limit can be shown by squeezing sin(x)/x between cos(x) and 1 around 0.
plot({cos(x), h(x), 1}, x=-4.4,y=-1..1.5);
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plot(l(x),x=-1.2);
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plot(f(n),n=0..100);
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plot(d(x),x=-0.1..0.1);
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Limit does not exist, but the one-sided limits both exist.
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Another phenomena so that limit does not exist: "oscillation"'.

limit(sin(i),x=0);
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A special function; note that x*x=e”(x In(x)), x>0.

pi=x— xx;
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limit(p(x),x=0, right);

limit(p(x),x=0);
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plot(p(x),x=0.1.5,y=0.2);
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Test: How to make loops?

for »n from 1 to 20 do u(n) := x—x" end do:
plot({u(1)(x), u(3)(x), u(9)(x), u(18)(x)},x=0..1);
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One can apply the "intermediate value theorem'" to show that x=cos(x) has a
solution.

0 —cos(0); g —cos(g);
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plot({x, cos(x) }, x=-m..1);
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